H & 0l & AHS B Ml A

SA01gH
HE: OO AR (LBIBDHT/LHHE)
Rl 3N s EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
orgtH 607,837 562,559 55,278
Ol AISZH(LBISIHE/ABIAT) 522,377 465,251 57,126
Y2 2= 299,330 269,930 29,400
ot #=sXI& 142,930 113,530 29,400
301 EetE NS 142,930 113,530 29,400
o7 8% -0 - H¥Es243 130,330 100,930 29,400
oolg+¢ 127,680
-JlE2eg 400,000 x21E«12& 100,800
-0 400, 0003 x21H 23] 16,800
-3 ¥NE 20,0002 x21H*23|x 12 10,080
Oerded=s 25,0002 53 *23] 2,650
4 JIEt2 8= 12,600 12,600 0
ool g &SI 50,0003 x21&~12& 12,600
Sl PAL 4,000 4,000 0
301 EtE NS 4,000 4,000
11 dALEEIXIZE S 4,000 4,000
Ous - 29, AL AL &H|I2d
4,000,000& 4,000
A2 NG9S FeEFMH(01LH) 150,000 150,000 0
401 Al HIZ S 0HYI 150,000 150,000
01 AlZ2H| 150,000 150,000
OOl BXIIII0SSER B FHIBA
30,000,000& 30,000
OO0l 2=0t2 2 It SHISA
30,000,000& 30,000
OO0l StelMXI= =2 ZHISAH
30,000,000 30,000
O0lg 01&0ts 8&d FHISA
30,000,000 30,000
O0lgt S0FItiEtNE KIS SA
30,000,000& 30,000
S3YFrd 2,400 2,400 0
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02 E3g=23H| 2,400 2,400
OM=ggs=d 100,000 2~ 122 2,400
AL & SSAIE 2l 223,047 195,321 271,726
AL 2tel 59,379 37,859 21,520
101 ©1AH| 28,383 25,213 3,170
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OFA2eI Y 28,383
-Jl=ag 78,8803 x1H 247 19,484
-RrasdIdfsd 78,8802 * 1 »52 4,102
A28 = 23,585, 1202 %10. 3% 2,430
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“EAL 80| S SRz
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S| OEBR| YR 242
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52| HIIUA A48
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180,000& * 12 2,160
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O=Aitg s8I MJIes
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101 @124H| 58,524 56,578 1,946
M OIRINZZ2NSE S 58,524 56,578 1,946
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-Jl=s 78,8803 x1&H =247 19,484
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-EA= 78,8803 30 2,367
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-“AUEEE 11,792,560 *10. 3% 1,215
-ElX= 39,4403 *30! 1,184
o0l M= 211
161,858 x4 +5 2 %43 12,949
O=MUEHZAIZE SZEH|
3,000,000 3,000
201 er23 | 32,144 27,884 4,260
01 At2teltl 6,284 5,984 300
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SA01gH
. HZ23HI(012H) (DIEHIIE
el J12dui(01gH) (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=2g+¢ 7,140
-2 Al 60,0001 *119& 7,140
Ooul=tl 100,000 8% 800
Or=1=i:] 8,820,000& 8,820
02 S5=24g4l 18,900 12,600 6,300
O8&82= £ HA 18,900,000 18,900
202 04l 21,600 28,800 AT7,200
01 =LHA LI 21,600 28,800 AT,200
O=U0l 120,000 x 15 =123 21,600
203 2=l 10,800 10,840 A0
01 J122geR=4a| 6,600 6,600 0
OJ|22g8g =4t
550,000« 1H* 122 6,600
02 SRIHAHA =] 600 640 240
Ot 20| 40,0008 * 15% 600
M A2 LRFEI 3,600 3,600 0
ORNEgg =AY 300,000& 12 3,600
204 HP MBI 2,400 2,400
01 MM SR A| 2,400 2,400
oud 150,000& ~1&+12& 1,800
OF Sty 50,0002 x1& 122 600




